MCJI %5

i

HE (CAR) REEL

IR AHETRER

SREL AR 172 (mm)
$2025 | 5,10, 15, 20, 25, 30, 40, 50, 60, 80, 100, 200
5,10, 15, 20, 25, 30, 40, 50, 60, 80, 100,
632,40 | 500, 300
10, 15, 20, 25, 30, 40, 50, 60, 80, 100,
#5063 | 500, 300, 400
15, 20, 25, 30, 40, 50, 60, 80, 100, 200, 300,
680,100 | 440, 500

© JERHEI TR IR EL - FHARB AL -

SRUEL / FTREFER -
MCJI-12-20-25

i

RERE 178

—
EEARARmTE
k| T i

11| == mms
1|2 EHE BN
2| 1| == wamamss
2| 2| =i 5| wummig

M RPN AT 2 N-03-04 H -

M

mindman

Rk

O {75 1SO 21287 fZ#E o

® O B E BLRE » FOAM R TR AU (RS A 2 S O e o LR
B o ML

o 5[ E At > RCIEURER BN ARE S AE2EH -

® R YIS

Kk

Bk MCJI
BT S E il
SRS (mm) 20, 25 32, 40, 50, 63, 80,100
B RS M5 X 0.8 G1/8
fH FDR S 2R,
1 R R ) g i 0.05~1 MPa
fiit & 1.5 MPa
58 P el 50~500 mm/sec
fe E= =il
FEE = izt
ITEREAZ (x1) +0~ +1.0mm
JEl L —5C~+60C (i)
RS (%2) RCI

XATRREAENSRE R L -
X 2 MU ESE I 32 Y-10 L (RCI) »

L
FAC — MCJI — 20

BUgR ekl
LA
Le
T FAC

FBC

Zl}
4+ f-—F MP
CA

CcB ¥ ¢ 20, ¢ 25 ECB Fiff: o

A RCI

NS EE T

mindman




MCITL A s ¥ 2%k

i

BE CAR) wEEEL

B EfEE) A

mindman

L L RS

7 778

y

i "‘"'
— |1 R, === e —J
=TV dnt
T 7
‘@él@§> ‘li\@
FEEAME ANEEERHE / ERA TSR
= . BE | Famfer | sHg - < £
1| AiE FrERE e 1 2 e 20 CP-MCJI-20 PS-MCJI-20
2 | ®E FEE 1 - (] 25 CP-MCJI-25 PS-MCJI-25
3| A e 1 1 ¢ 32 CP-MCJI-32 PS-MCJI-32
4 | HiITEZE < 1 1 () ¢ 40 CP-MCJI-40 PS-MCJI-40
5 | t’Rifi%k e 1 1 () $50 CP-MCJI-50 PS-MCJI-50
6 | IHIEMS P 1 2 $63 CP-MCJI-63 PS-MCJI-63
7 | EEMEER NBR 1 1 ® e ¢80 CP-MCJI-80 PS-MCJI-80
8 | #WiE fhAGE | 1 1 ® ¢ 100 CP-MCJI-100 PS-MCJI-100
9 | REMEER ¥y 1 1 ®
10| JEFEEE R NBR 1 1 ® ()
11| O ZUER NBR 1 1 ® ®
12| JEFEEE ISR T 1 = ®
13| ARMETET NBR 2 | 2 ® ®
14| O #UBR NBR 2 | 2 ® ()
15| ANAAEIRG ReEe | 8 | 8 ®
16 | i R L 1 1 ®
¥ BEFME ¢ 20, ¢ 25: 1§58, ¢ 32~ ¢ 100: i s
=, .
HEK (W47 : g)
AU HAER AE10mm 17 BEAHE £10mm 1772
o MCJI-11 MCJI-12 MCJI-12
SFES @ @
¢ 20 121 108
25 147 135
32 238 214
40 322 291
¢ 50 493 455
¢ 63 703 667
¢80 1,260 1,190
¢ 100 2,140 2,060
M mindman




M

mindman

| MCJI Zes:p

&
%.%77,689134220
m Yy YgIdieiele|ela

O|O|O|O|OX|E[E| |4l
& 519
Bl S 313
i = s 3|2
i R Bl EE T
ANEEEEIRE HEIE:
MC@%%@?EEE@
R E MG R E

_.Fl.z% " EedE2 ME;_
TN P R
I |s|S5|0|=|2|a|a|8|x
m.123456789w,ﬂ

mindman




MCJI SRS ¢20~¢1

00

BE CAR) wEEEL

B EtEEN A

mindman

B g E) A

20~ ¢ 25
(b d) 7B+ 712 ZC+2 x 1712
WH ZA+TTHE WH ZA+THE WH+{TH2
] C C C
PL PL PL , , PL
\ \
KEXAF. | KEXAF|
J B A BPS PE DL 2 AN @E
S i B
1 ] A W = ‘
2-EE i’fi* 7777777777 — 2EE T 1 1
\ 2x4-RT N 2x4-RT
=Rt
Pl b4 A |Aa1| B |BI| KK
MCJI_11/21 20 |16 |14 | 13| 4 M8 x 1.25
25|16 |14 | 13| 4 M8x1.25
32|19 |17 | 17| 5 | M10Xx1.25
40 | 19 |17 | 17 | 5 | M10X1.25
- 50|22 (20|19 | 6 | M12x1.25
63| 22(20| 19| 6 | M12x1.25
80 | 28|26 |24 | 8 | M16X1.5
100 | 28 | 26 | 24 | 8 | M16X 1.5
% |AFl c |D| E| EE |G |WH| 1 |J KF |PL|{TG| RT |zA|zB|zC
20 (14 |11 10 | 35,5 M5Xx0.8 8 6 9121 M6X%1.0 7 22 M5x%0.8 37 43 49
25 (14 |11 10 | 39.5| M5Xx0.8 8 6 9121 M6x1.0 |7 26 M5x0.8 39 | 45 | 51
32 |15 |14 12 | 47.0 G1/8 10 7 9121 M8x1.25|7.5]|325 M6Xx1.0 44 51 58
40 | 15 |14 12 | 545 G1/8 10 7 9|21 M8x1.25 7.5 |38 M6x1.0 45 52 59
50 | 18 | 14 16 | 65.5 G1/8 14 8|12 26| M10X1.5 751465 M8x1.25 | 45 53 61
63 | 18 [(145]| 16 | 755 G1/8 14 8|12 (26| M10X1.5 75(156.5| M8x1.25 | 49 57 65
80 | 20 [15.5]| 20 | 955 G1/8 17 | 10 | 12 [ 2.6 | M12X1.75 | 8 72 M10x 1.5 54 64 74
100 | 20 | 18.5| 20 | 113.5 G1/8 17 1 10 [ 12 [ 26 | M12X1.75 | 9.5 | 89 M10Xx 1.5 67 77 87
M ‘mindman




MCJI 2R ¢20~6100

@?T-U (;:l,\) _(J_

mindman

S| B | E |WH| ZA | moksiif
20 | 13 35.5 6 37 600 mm
25 | 13 39.5 6 39 600 mm
32 | 15 47.0 7 44 800 mm
40 | 15 54.5 7 45 800 mm
50 | 15 65.5 8 45 800 mm
63 | 15 75.5 8 49 800 mm
80 | 17 95.5| 10 54 1000 mm

100 | 19.5 (1135 10 67 1000 mm

X R KRR W

I -

No.| ZEff:#fE |HE
I K
E 2 | ENLEH 2
3 | AR 2
L. i
IWH ZATTR B ZA T WH 4 | NAREER | 2
XA+ THE
E WH
=T =T
g.. ©o ] H
L L
< . Y @ 77777777777777 1 I
w
: @ @
<
- ¢ AB
|
L :
\ R Ao, AU | AU
. AB|AH|AO|AU| E | EA | L | R |SA|T|TR|WH|XA
20 7 27 7 16 355 | 448 | 21 — 69 | 4 | 22 6 [ 59
25 7 29 7 16 39.5 | 488 | 22 = 71| 4 | 26 6 61
32 7 33.5 7 16 47.0 57.0 | 245 | 15 76 | 4 | 32 7 67
40 | 10 38 9 18 54.5 65.3 | 26 17.5 81 | 4 | 36 7 70
50 | 10 45 9 21 65.5 77.8 | 31 20 87 | 5 | 45 8 74
63 | 10 50 9 21 75.5 87.8 | 31 22.5 91 | 5 | 50 8 78
80 | 12 63 1" 26 95.5 | 110.8 | 40 — 106 | 6 | 63 | 10 90
100 | 145 | 74 13 27 | 113.5 | 130.8 | 46 = 121 | 6 | 75 | 10 | 104

R RRLITRZZHEAT -

mindman



MCJI 2R ¢20~6100

BE CAR) wEEEL

$20~¢ 25

b 32~¢ 100

¢ FB

¢ FB

b 20~¢ 25

b 32~¢ 100

¢ FB

¢FB

mindman
MF
i il
[ a
LJ LJ
R ey I -
B ]__,V
w ! ZB+{ 712
% |'p| E |FB|MF| R |TF|UF|W |2zB
(RS
20 16 | 35.5| 6.6 8| — 55 70| 2 43
25 (16 | 395| 66| 8| — 60 76 | 2 45
32 | 30| 47.0| 7 10 | 32 64 80| 3 51
40 (35| 545| 9 10 | 36 72 90| 3 52
50 | 40 | 65.5| 9 12 | 45 90| 110 | 4 53
63 | 45| 755| 9 12 | 50 | 100 | 120 | 4 57
80 | 45| 955|112 16 | 63 | 126 | 150 | 6 64
100 | 55 | 113.5| 14 16 | 75 | 150 | 175 | 6 77
ZF+{T1
MF
[l |l
(I (I
L L
Mt o | E|FB|MF| R |TF|UF|zF
20 16 355 6.6 8 — 55 70 51
25 16 39.5 6.6 8 = 60 76 58]
32 30 47.0 7 10 32 64 80 61
40 85 54.5 9 10 36 72 90 62
50 40 655 9 12 45 90 110 65
63 45 75.5 9 12 50 100 120 69
80 45 955]| 12 16 63 126 | 150 80
100 55 |113.5( 14 16 75 150 175 93

mindman




MCJIT &ZERPE 632~0100

EA (AR ) REREL mindman

ZE+THE
FL+0.2 EW
‘ L [t lco| Ew |FL| L |MR| ZE
L 20 8 | 16h12 | 20 | 14 8 | 63
i i ,,,} sCDre (AN AN 25| 8 | 16h12 | 20 | 14 | 8 | 65
L L 7 N\ 32 10 | 2585, 22 | 13| 10 | 73
=y / 40 | 12 | 27.8%.| 25 | 16 | 12 77
] 50 | 12 | 31873, | 27 | 16 | 12 | 80
SMR 63 | 16 | 39.87%,| 32 | 21 16 89
,,,} N 80 | 16 | 4987, | 36 | 22 | 16 | 100
— \ 100 | 20 | 59.873,| 41 | 30 [ 21 | 118
ZE+HTHE . UB(h14)

FL+0.2 CB(H14)

L facB|co|FL| L |[MR|uUB|ZE
‘ 32 26 10 22 13 10 45 73
40 28 12 25 16 12 52 77
50 32 12 27 16 12 60 80
63 40 16 32 21 16 70 89
80 50 16 36 22 16 90 | 100

100 60 20 41 29 20 110 118
X ¢ 20, ¢ 25 4t CB Jcff: o

¢ CD(H9)

[

1]

L]_J

J
LI

¢ MR —=
ER ©

|
©

2-C0.5

ETRREE - e 1
PIN—MCJI—32—CB—P .

iR 1 T T;

2-¢B
A

s FUELAE P ST
B lAe| B | C| E| F | mm
B 32 10 (9.6 [2.65| 452| 50.5| STW-10
CB : CB figf:iff 40 12 [11.5(265| 52.2| 57.5| STW-12

50 12 |11.5(2.65| 60.2| 65.5| STW-12
63 16 |15.2(2.65| 70.2| 75.5| STW-16
80 16 [15.2|265| 90.2| 95.5| STW-16
100 20 |19 |2.85|110.3| 116 | STW-20

M mindman




	1_規格
	2_內部構造
	3_安裝配件
	4_外觀尺寸
	5_安裝配件
	6_安裝配件
	7_安裝配件

